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) DE KIEM TRA CUOI NAM LOP 11
A. NGHE HIEU
Part I. Listen to the conversation, circle the correct answer A, B or C.

1. Which ball game is the one that Paul didn't mention?

A. Volleyball B. softball C. baseball
2. Does Paul play ball games now?

A. Yes, every day B. No, not anymore C. Yes, but only at weekends
3. When does Paul watch sports on TV?

A. Every day B. Every other day C. Only on weekends

Part I1. Listen and complete the sentences.
Monday - Saturday, open from : 9a.m to : (4)

Name of the nearest station: (5) station
Elephant house closed on : (6) May
Shops sell books, postcards and : (7)

Cost of family ticket: (8) £

B. TRAC NGHIEM :
Choose the word which has the underlined part or main stress pronounced differently from the others.

9. A. weather B. growth C. wealthy D. geothermal
10. A. polluted B. consume C. nuclear D. fuel

11. A. annual B. affect C.celebrate D. constancy
12. A. electricity B. geothermal C. alternative D. radiation

Choose the one word or phrase- A, B, C, or D - that best completes the sentences.

13, The man we met yesterday was the manager of a factory car.

A that/ which/who/ whom  B. whose/ who/ whom/ that  C. ¢/whom/ that/who D.who/ which/ ¢$/whom
14. —“May I go out?” — J

A. Go ahead B. It doesn’t matter C. You may D. Be quick
15. l invited Tim and Andy to go on a trip with me, but of them was able to go.
A. both B.either C.none D.neither
16.China became the third country in the, world to be able to independently carry _ manned space flights.
A.on B. out C. off D. over
17. These ideas have now been completely discarded.
A. come up with B. got rid of C. put forward D. put into practice
18.1t’s important for the developed countries to reduce energy ...... as much as possible.
A. exhaustion B. destruction C. consumption D. waste
19. Yuri Gagarin was the first personto _ the Earth from space.
A. glance B. sightsee C. view D. look
20. Nothing unusual happened, ?
A. did they B. didn't they C.did it D. didn't it

Choose the underlined word or phrase -A,B,C or D- that needs correcting.
21. Jim said the switch was dangerous and warned me don’t touch it.
A B C D
22. Only a few films show at the Gray Theater are suitable for children.
A B C D

Read the passage carefully , then choose the correct answer.
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In 1957, Russia launched a small metal ball, Sputnik, into space. As it circled the Earth, it did nothing
but send a simple radio message back to Earth. That message, however, was enough to frighten the Americans
badly. The Russians were winning the space race. But what was the space race? Very simply, it was a race to
see which country could get into space first. Both Russia and the United States wanted to win very much.
With Sputnik, Russia won the first part of the race, but the next stage, putting a man into space, was far more
important to both countries.

The American program to put a man into space was the Mercury program. The Americans chose Alan
Shepard, a Navy test pilot, to be their first astronaut. They called his mission Mercury Freedom 7. Shepard
went through months of training for his mission.

Meanwhile, the engineers and scientists tested every part of his spaceship to make sure it was safe.
Finally, in 1961, after the Americans safely sent a monkey into space, they were ready to send Shepard. In the
last week of February, Shepard’s Redstone rocket was on the launch pad, but a last minute problem meant
that they could not launch. They rescheduled the launch for May 5. Then on April 12, the Americans
received terrible news. Yuri Gagarin, a Russian, was in space. The Russians had beaten the Americans again.
23. According to paragraph 1, the term space race is best explained as

A. the race to build the fastest rocket B. the race to get into space first

C. the race to reach the moon first D. the race to launch Sputnik

24. The word They in the passage refers to

A. The Russians B. The Americans C. The Navy D. The Mercury program

25. According to paragraph 3, why did the Americans lose the second part of the space race?
A. They could not build a rocket as fast as the Russians. ~ B. Their program was unsafe.

C. A problem forced them to reschedule their launch.  D. Their monkey died.

26. It can be inferred from the passage that the Americans sent a monkey into space in order to

A. test their rocket’s safety B. get into space faster than the Russians
C. help train Shepard D. fix a problem with their rocket

27. According to the passage, when did the first human go into space?

A. In 1957. B. In February 1961. C. On April 12, 1961. D. On May 5, 1961.
28. The word rescheduled in the passage is closest in meaning to

A. planned B. launched C.did D. reset

Read the passage carefully , then choose the best answer for each blank.

Few people now question the (29) of global warming and its effects on the world's climate. Many
scientists put the blame for recent natural disasters on the increase in the world's temperatures and are
convinced that, more than ever before, the Earth is at (30) from the force of the wind, rain and sun.
According to them, global warming is making extreme weather events; such as hurricanes and droughts, even
more (31) and causing sea levels all around the world to rise. Environmental groups are putting

pressure on governments to take action to reduce the amount of carbon dioxide which is given (32)

by factories and power plants, thus attacking the problem at its source. They are in favor of more money being
spent on research into solar, wind and wave energy devices, which could then replace existing power stations.
Some scientists, however, believe that even if we stopped (33) carbon dioxide and other gases into the
atmosphere tomorrow, we would have to wait several hundred years to notice the results. Global warming, it
seems, is to stay.

29. A reality B. truth C. fact D. principle
30. A threat B. danger C.risk D. harm

31. A.strike B. strong C. severe D. heavy
32. A off B. away C.up D. over

33.  A.making B. doing C. using D. releasing
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C.TU LUAN:

Give the correct form of the words in capital form.
34. It's difficult to prove the of life in other planets.
35. We took part in the game with great
36.Any student ( NOT WANT )

Rewrite the following sentences so that the second sentence means the same as the first one.

37. Did Thomas Edison invent the telephone?

= Was it the ?
38.0ur car must be serviced, mustn't it?

»=.Our car needs ?
39. They believed that he was in town last night.

= He

40. His sister is living in London and his cousin is, too.

= Not only

---THE END---

DAP AN

EXIST
: ENTHUSIAST
to go to the trip should inform the office.

Ma dé TC201

A.NGHE HIEU (2 diém )

1.C 2.B 3.C 4. 7.30/ seven thirty
5. North 6. 3th/ (the) third | 7. T-shirt 8. 12/ twelve
B. TRAC NGHIEM ( 6 diém )
9. A 13.C 17.B 21.D 25.C 29. A
10. A 14. A 18.C 22.B 26. A 30.C
11.B 15.D 19.C 23.B 27.C 31.C
12.C 16.B 20.C 24.B 28.D 32.A

C. TU LUAN ( 2 diém)
33.D

34. existence

35. enthusiasm

36. not wanting
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37. Was it the telephone that was invented by Thomas Edison?/ Was it the telephone that Thomas
Edison invented?

38. Our car needs servicing, doesn't it?

39. He was believed to be in town last night.

40. Not only his sister but also his cousin is living in London.
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